M12FIR38-0 - EXPLODED VIEW

Ref Part #
1 204766002
2 695925001
4 695928001
5 622075001
6 613249001
7 613250001
8 637796001
9 613251001
10 613248001
11 661487001
14 613326001
15 661031003
16 637994001
17 682158001
18 642931001
19 662573001
20 696054001
21 662675001
22 660230016
25 673021004
26 633822001
27 532689001
30 204767001
31 208344002
32 208346001
33 208345002
34 941047708
36 693005001
37 564458001

Not Shown 49084122

Title
ANVIL ASSY
YOKE
BUSHING
CRANK SHAFT
CARRIER
PLANET GEAR
WASHER
RING GEAR
MOTOR HOLDER
SCREW M3x10 T10
BUSHING
TP SCREW M3x8
BEARING PLATE
CE BEARING
MOTOR PLATE
SCREW T2.5x31
SCREW NUT
M SCREW M4
ST SCREW M3.0
PIN
PADDLE SWITCH
SWITCH LOCK OUT
HANDLE ASSY
YOKE HOUSING ASSY
MOTOR AND PCBA ASSY
MOTOR ARMATURE ASSY
M12FIR38 RATING LABEL
3/8 to 1/4 INCH ADAPTOR
RUBBER BOOT
GREASE TYPE E 1 LB

Qty



